ST 545 i = X 15
AR - gl TR %
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® & # ®
| W T LR ik
1 BEEREUIEL P o B A X —fdli 16
2 LELISl o 50 | 1.1 —ldr 27 a9 49
N FiEfr L TR b - | B& = i s
L Xk 50 | 1.0 -~ 59 59
Ffgil 2 TH Esin 50 | 1.0 -~ 59 59
AR A b — | HsHR —| e e b
AT AR X g
1 R ERTIRILARE 50 | 1.1 —| | 78 75
2 ESBPTIE AR LR 50 I.1 —|F 44 T3H T3
3 hEEA o i 50 | 1.1 —|+ 35 63+ 63
A1 ~4TH LRIk — | BEHR | Ph¥E PR¥E phME RRYE
A LA Ik
1 EE 1 658X 0 w0 50 | L.1|% 8.5 18 37 37
2 LEELUSh O iR 50 | L.1[¥ 18 35 60 60
I A A b I — | Bk —| M b pRiE
T LT X 50 | 1.1 —f 42h 56 56
P Itk A LA K ik
1 REER AR PN 0 2 K —li 22
2 LA o g
(1) MEEERE6 65, 6 95 (R[50 | 1.1 —[f a4 e5fh 65
hRiE Y ) B
(2) EfLsh otk 50 | 1.1 —fF 35F 54 54
IR [EEEIE (A% — | B | fhM RRME HETH bR
A LA Kk
1 REIRE RN O 2 A O W 15f0 25
2 LA iR
(1) FaBEAiEsRI LERIG . 50 | L.1|h 24 43 61t 61
W IE B HBLLAA
VR E SR ACAR AR




1.

ST 545 v R XK 25
AT ¢ el —___ DIREHE
SR ks w0 W e w4 [P PERERTIEEETA RS
By HR (2) TR, FREE. I, FBHE. JHE 40% 1.1%4J IEEP ZéﬂP Z{SEP 22 ’
M. fgBE)IROPN, WRIE) TR A
SR EIE AR S D SO g
(3) LRSI OHL 50 | 1.2|f 21fF 40 B4 54
AR T L Xk
1 RS M Py o B A X #O10WE 18
2 BRSO Hit
(1) W@, Jum 50 | L1|d 17 32 44 44
(2) #Fim 40 | L1 10/ 19 254 25
(3) LRELSoHmg 40 | 1| 18 52 44 44
EFRIR TR L X
1 FREEIRG R o B T —fli 24
2 LRELSt oo
(1) EEHFE)BETRERT 50 L1 - 70 63F 63
(2) EFEESIs MR 50 | 1.2 —fF 34F 50 50
boE [EREa AR — | BRAR | bb¥g LLYE LbYE LLHE
A LR R
1 REIRE RN o 2 T K Wl 116 20
2 IR 50 | 1.1 (% 9.2 20 26 25
3 LReLst iR
(1) FeLBRABEhE R 50 | 1.0|h 23 48+ 65 65
(2) kitEist ol 50 1.Oo[F 18F 344 5oH 50
A ek AEz — | BRMR | LRMH bhYE LR LhYE
A AR Kk
1 [EE4 07 5Hia 50 | 1.1 — 51 55 55
2 ELS o 40 | 1.1 —fr 37 b 46
&| Wi i Ik — | B —| ¥ hYE LY
AR KR 50 | 1.1 —| 35— -
EAE AT = | B# —| be#E beHE v




1.

&F0 545 v R XK 3E
AR - gl PFriRBSE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e & & {% 7 #
& LAE AT LR
1 BRI o0 B T Hh XK Ik —j 24
2 LELRIAA oI
(1) FEEMIFEFTIIKLRIG 50 | 1.1 —[F 6o 75 75
(2) EBEHI7E)IBARRD 5 | 1.1 —[ 49h 64 64
(3) BRSO Hl, 50 | 1.1 —| 37t 53 53
S| fEH AT LA DI
1 BEETREL g PN o B A W8 ol 23
2 LRI o Hitk
(1) EE2 9 9 BH4G 50 | L1|H 19 508 61ff 61
(2) HiE4 0 75#0 5 | L.1 —H 49 55H 55
(3) W& R =gl 50 | 1.1 —|FF 44 54 54
(4) ELFEESAA O 40 | L1 15F 39 50 50
HH1~2TH [iREaR A% — | BEAR | PhME PR M PR
T L X
1 ), B 40 | L1 7.6 19 24 24
2 _ERCEA Ot 40 | L1|% 12 37 49 49
WwH3ITH EE807 — | BEAR | EeTH LEYE ROTH O LRYE
Bl AL X — | B | LbME MR MR phTE
[EEeglatidee s
1 [E3E1 6 5% 50 | 1.1|% 17 48 78 78
2 RERLS O 50 | L.1|# 15 38 59 59
HILE1~4TH i — | BE# —| ¥ — —
R AT (LA Xk
1 RERTIRE ARk LR 50 1.1 —F 43 73 73
2 LERLS o 50 | L1 —t 32 57 57
L| TRE [isEex (A — | B = I
AT LR (X I8




&F0 545 i = X 1H
AR - gl PFriRBSE
e R ks @ A o w4 [P PEEERTIBEITOGES
U FaE | BRI R LT P v I
2 IS 40 | L1 9.2 a8 24/ 24
3 LELS o 50 | L3|f 17 34 47h 47
TR [k (A% - | B& = I
[iRcaglor | dEe
1 [EiE4 0750 50 | 1.1 —[ 50 54 54
2 kLo 40 | 1.1 —b 37 aefh 46
Fl1~3TH |2 — | B - wh#E - -
Bl fdk1~4TH gt — | B - o
0| o LE ki — | Bk -1 - - -
7| hETE A AR X
1 REERE N o 2 A O —iffi 18
2 LbRREA O
(1) EE#FE)IBARMBRTD 5 | L1 —F 45% 56T 56
(2) LEFRESoHk 50 1.1 — 3 48 48
ol AR T LA X b
1 [EiE4 07 58n 50 | 1.1 —f 47 55 55
2 RIEH®RLBEG. 50 | 1.1 —[F 42 50 50
VR 5 5 IR R AR AR
3 LRELUSh o 40 | 1.1 — 3% 46fF 46
RET1TH [EEc (A% — | B | PME bR LT RRHE
T LA X 10 | L1 - —H 28+ 26
HRE2TH LRIk — | BEHR | Ph¥E PR¥E phME RRYE
AT LR X 10 | 1.1 —| I 49F 49
N =R Bt — | B —| i e i
E1TH T i — | BEHR | Lb¥E bh¥E LhME HLTE
T R X I 40 | L1|h 7.6 22 26 26
¥ 2 TH £t — | B | k¥R MR HME fhiE
JSE3TH [k AES: 1 — | Bl | Lb¥E HHE O HME LT




1.

ST 545 v R XK 5E
i RET A4 - kil : _ DTREBE
e R ks @ A o w4 [P PEEERTIBEITOGES
N L3 TH A LIS ik 40% 1.1% - fEP 4{343 45 ’
EHEE1~4TH £ — | BEAR —| e kI L
EWHR 1 TH A Kk — | BEMR | Pb¥Y bovE bhiH LY
AT LR X 40 | 1.1 —| o5 25
RWER2TEHE i Kk — | BS#R | b LR YR LETE
T AR X 40 | L1 — 22 25 25
LR 3~4TH |28 — | BRER | PRl phiE bR bhI
M BEER1~2TH &R — | BRAR | LhME bh¥E HeHH eI
V3 AR T LA X ek
1 R R sk PN 0D SR X Js —ffi 25
2 hEEA o i
(1) ZEHFHE) AR, 50 | 1.1 —[ 49F 62F 62
VRS BT IR R FBe LR IG
(2) EBMITE)IBARRL D 50 | 1.1 — 36 58 58
JeA o> ek
(3) BRSSOt 50 | 1.1 —|# 36+ 52 52
| K E [iEkeplaEe — | B —| ke e kv
TR R X g
1 BFEREHIRN O R A KR —Hi 22
2 LRELstoR
(1) EBEHOFEFRIRILSRE 50 | 1.1 —fr 59 78h 75
(2) EBHI7E)IBARRD 50 | 1.1 — 58+ 61 61
(3) kLS ot 50 | 1.1 —I# 32 51H 51
A AR R 1 e T 3 2 AT BN 250 | ER @R EE) E5)
A Kk = | B —| ¥ T LY
AL A X8
1 RO o B A il X —pli 22
2 ERRES O HE
(1) FEHOFE) ARG 50 | L1 — 51 64 64




&0 544 5 E XK 65
TR 4 - el BB
R I A S B B W= i T A AR
PRI (2) FEHFEFRBINHRD o | 1] b oeam g o ]

(3) kiesish sl 50 1.1 —F 37 51 51




